Lesson 8

Read Chapter 5 and Chapter 6

Functions,domain range

Multipart functions

semicircles

2023-10-12 12:07:24 110 lesson8 (#9)



x and y intercepts % = £ 00

Given y = f(x) '
To find y intercept calculate £(0) , 9 © 'S ie domaing of §
To find x intercept(s) set f(x) = 0 and solve for x
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Find x and y intercepts for f(x) = x> — 5x + 6
3 = X ¢ _ s5X T 6

i) For Y intercept = x=o0 Comeu‘le Slor= 6 (o, §)

2 =
") For x iﬂ"‘hrupt S solve O = X -Sx +6 .- X Z, 3

(2,9) (3 =)

3= X L~ sx +§
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Domain=set of all allowed inputs
ollo wed 53 who ever Aeéineé tHa Junction

If we have a formula y=f(x), NATURAL DOMAIN is all x that |
can plug into the formula

but
there maybe other restrictions. Recall Ann and Bob problem:

y(t)=10+6(t-15), t> 15
A L15, to ) N
E=15 ’G } o
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Find the (natural) domain of f(x) =
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Ir(EXPR)requires EXPR > 0

vV EXPR requires EXPR >0

SOI\QE{DEING requires EXPR # 0
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Algebraic manipulations

replace 2wt

Given f(x) = —VXX_ng calculate f(1 + h)

+h

5C14n) = V Cian) <

(1+h) - S

V 2+,

h-§G
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Given f(2) = v2— 8 simplify f(x+h,)7_f(x) enough so that plugging
in h =20 is allowed

/-
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-(\’(x*),)-g - \/7:;7 (fx+b~8 4+ {x-9

h Vx+h-2 % {x-g

__—

(a-b)(x+db) = o~ b°

QL -b"‘
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h (Vx84 Vxg) e xan-3 +J:x—:?)
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C)"VM\

l 2
(x-1) +(3-?_) = 9

(y-2) = =

(3-2)7': q-(X-I)L

Va - (x)2
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2

Given (x —x0)? +(y —y0)? = r
Top semicircle isli/ — Yo + \/r2 — (x — xg)? J

Bottom, semicircle is[y =y —r2—(x— Xo)ﬂ
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